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= 82,500 86,000 £3,500
2 2,575,784 2,565,284 10,500
405 THAHE S| 860,000 860,000 0
2 225,000 232,000 AT7,000
= 82,500 86,000 £3,500
2 552,500 542,000 10,500
01 AL SZF S| 860,000 860,000 0
OXAHA(ZYHA HEHX) 7L
430,000, 00024 #2CH 860,000 860,000 0
2 225,000 232,000 AT7,000
= 82,500 86,000 £3,500
2 552,500 542,000 10,500
SOIEHA DENCAAY 75 22,811 22,811 0
= 1,044 1,016 28
2 21,767 21,79% ~28
307 212H01 22,811 22,811 0




M AZWSH
33 WsSdHF O
ol SSgH A (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
[ 1,044 1,016 28
= 21,767 21,7% v
0 2=gHELS 22,811 22,811 0
OBl JtERE =2 XIZ3
11,311,000& 11,311 11,311 0
< 1,044 1,016 28
= 10,267 10,295 AV
a4 X2 100,000 0 100,000
gRUSEE =& N 100,000 0 100,000
e~ NEEZ AL 100,000 0 100,000
401 AlEBIL S THYI 100,000 0 100,000
01 Al£ZHI 100,000 0 100,000
O1NEEZ SH0IE SEIALY
100,000,000 100,000 0 100,000
wSXE o = 2,550,080 2,463,080 87,000
[ 360,000 350,000 10,000
= 2,190,080 2,113,080 77,000
wEXE Fd 1,350,080 1,263,080 87,000
< 10,000 0 10,000
= 1,340,080 1,263,080 77,000
WEXNE 2E 22| 805,580 771,580 34,000
201 er2 3| 504,980 470,980 34,000
01 AtR2t2l] 181,480 147,480 34,000
ORI SHMUEH 23
31,000,000 31,000 0 31,000
OfIIH SEFIHE Agotmae] K2
= 3,000,000 3,000 0 3,000
WEHE AlES 2el 411,500 391,500 20,000
401 AlEBIL S THYI 411,500 391,500 20,000
01 Al£ZHI 411,500 391,500 20,000
OuSAHMAIEE X & E= 361,500 341,500 20,000
—LEDEXIE ZXIALE 20,000,000 20,000 0 20,000
(AZOHE IS A)20248 DEHMAIL &X| XA 33,000 0 33,000
< 10,000 0 10,000
s 23,000 0 23,000
401 Al&BIL S THYI 33,000 0 33,000
[ 10,000 0 10,000
= 23,000 0 23,000
01 Al£ZHI 33,000 0 33,000
OLFE XM XA
33,000,000 33,000 0 33,000
< 10,000 0 10,000
= 23,000 0 23,000
Hees(Hens) 26,730 0 26,730
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